V. Лексико-грамматический тест “Пассивный залог” 10 кл. к учебнику Rainbow О. В. Афанасьева.

Выбери правильный вариант
1. The party _____ since the new year.
a) was planned
b) is planned
c) has been planned
d) is being planned

2. Could it _____ without outside help?
a) was done
b) be done
c) is done
d) has been done

3. It _____ to them where to cross the river.
a) will have been explained
b) was explained
c) have been explained
d) had been explained

4. You _____ enough time to prepare your answer.
a) will given
b) will be given
c) will have been given
d) was being given

5. How many times _____ this play _____ before?
a) was performed
b) has been performed
c) had been performed
d) is performed

6. It _____ that two of them are in serious conditions.
a) is said
b) was said
c) has been said
d) is being said

7. Do you hear anything? Something _____
a) had been fallen
b) is fallen
c) has been fallen
d) was fallen


